SCH3U1
Concentration Problems 2:  Moles per Litre

1.
A solution was prepared by dissolving 70.0 g of silver nitrate in 1.00 L of water.  Calculate the concentration of the solution (in mol/L).

2.
What mass of solute is present in 25.0 mL of a solution of potassium nitrate with a concentration of 2.00 mol/L?

3.
What mass of solute would have to be measured out to make 250 mL of a 3.00 mol/L iron (III) chloride solution?

4.
The concentration of a particular sample of hydrochloric acid is 0.365 g of hydrogen chloride per 100 mL of solution.  Calculate the concentration in mol/L.

5.
a) How many moles of sodium hydroxide are there in 250 mL of a 2.00 mol/L NaOH solution?


b) How many grams of NaOH are there in the same volume of solution?

6.
What mass of silver nitrate is required to prepare 100 mL 0.250 mol/L AgNO3?

7.
What volume of 3.0 mol/L NaOH can be prepared from 6.0 g of sodium hydroxide?

8.
What is the concentration (in mol/L) of a solution made by dissolving 26 g of NaBr in 400 mL of water?

9.
How many grams of sodium nitrate are there in 400 mL of a 0.20 mol/L solution?

Answers:

1. 0.412 mol/L


2. 5.05 g

3. 122 g

4. 0.100 mol/L

5. a) 0.500 mol  b) 20.0 g
6. 4.25 g

7. 0.050 L

8. 0.62 mol/L

9. 6.8 g





